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CUBE AND CUBOID
Practice
Sheet

1. A cube of side 80 cm is painted yellow on all the faces

and then cut into smaller cubes of sides 8 cm each. Find

the number of smaller cubes having all the three faces

painted.

80 cm Hkqtk okys ,d ?ku dks lHkh iQydksa ij ihys jax ls jax tkrk gS
vkSj fiQj bls 8 cm Hkqtk okys NksVs&NksVs ?kukas eas dkVk tkrk gSA mu NksVs
?kuksa dh la[;k Kkr dhft, ftuds lHkh rhuksa iQyd jaxs gq, gksaxsA
(a) 64 (b) 28

(c) 8 (d) 32

2. A cube of side 125 cm is painted red on all the faces

and then cut into smaller cubes of sides 25 cm each.

Find the number of smaller cubes having at least two

faces painted.

125 cm Hkqtk okys ,d ?ku dks lHkh iQYkdksa ij yky jax ls jaxk tkrk
gS vkSj fiQj bls 25 cm Hkqtk okys NksVs&NksVs ?kuksa eas dkVk tkrk agSA ,sls
NksVs ?kuksa dh la[;k Kkr dhft, ftuds de ls de nks iQyd jaxs gq, gksaA
(a) 52 (b) 44

(c) 36 (d) 48

3. A cube of side 49 cm is painted purple on all the faces

and then cut into smaller cubes of sides 7 cm each.

Find the number of smaller cubes having only one face

painted.

49 cm Hkqtk okys ,d ?ku dks lHkh iQYkdksa ij cSaxuh jax ls jaxk tkrk
gS vkSj fiQj bls 7 cm Hkqtk oksy NksVs&NksVs ?kuksa eas dkVk tkrk gSA ,sls
NksVs ?kukas dh la[;k Kkr dhft, ftudk dsoy ,d iQyd jaxk gqvk gSA
(a) 150 (b) 25

(c) 50 (d) 100

4. A cube of side 12 cm is painted green on all faces and

then cut into smaller cubes of sides 2 cm each. Find the

number of smaller cubes that have only one face painted.

12 cm Hkqtk okys ,d ?ku ds lHkh iQydksa dks gjsa jax ls jaxk tkrk gS
vkSj fiQj bls 2 cm Hkqtk okys NksVs&NksVs ?kuksa eas dkVk tkrk gSA ,sls NksVs
?kuksa dh la[;k Kkr dhft, ftudk dsoy ,d iQyd jaxk gqvk gSA
(a) 68 (b) 78

(c) 49 (d) 96

5. What is the minimum number of colors required to paint

a cube in such a way that the adjacent sides are not of

the same colour?

,d ?ku dks bl izdkj ls jaxuk gS fd lkFk yxus okyh Hkqtkvksa dk jax ,d
tSlk u gks] blds fy, de&ls&de fdrus jaxksa dh vko';drk gksxh\
(a) 3 (b) 4

(c) 6 (d) 2

6. Three colors are used to paint a cube. The color scheme
is such that no one color is used on two adjacent
surfaces. After this it is cut into 64 small cubes. From a
given cube, there will be some cubes in which only one
surface is colored. What is the maximum number of

such (one surface colored) cubes of any one colour?

,d ?ku dks jaxus ds fy, rhu jaxksa dk iz;ksx fd;k x;k gSA jax O;oLFkk
,slh gS fd dksbZ Hkh ,d jax nks vklÂ lrgksa ij iz;ksx ugha gqvk gSA blds
i'pkr~ bls 64 NksVs ?kuksa esa dkVk x;k gSA fn, x, ?ku ls dqN ,sls ?ku
izkIr gksaxs] ftudh fliZQ ,d lrg jaxhu gksxhA fdlh ,d jax ds ,sls
(,d lrg jaxhu) ?kuksa d vf/dre la[;k fdruh gksxh\
(a) 6 (b) 7

(c) 8 (d) 9

7. The outer surface of a cube of dimensions 4 cm × 4 cm
× 4 cm is completely painted red. Then it is cut into 64
small cubes of size 1 cm × 1 cm × 1 cm parallel to the
faces. How many small cubes will not have their faces
painted?

4 lseh × 4 lseh × 4 lseh ds ,d ?ku ds oká i`"B dks iwjh rjg yky
jax ls jaxk x;k gSA rRi'pkr~ bls iQydksa ds lekarj 1 lseh × 1 lseh ×
1 lseh ds 64 NksVs ?kuksa esa dkVk x;k gSA fdrus NksVs ?kuksa dh iQydsa jaxh
gqbZ ugha gksxh\
(a) 8 (b) 16

(c) 24 (d) 36

Direction (Q. 8-12) : Study the following information
carefully and answer the questions based on it.

A solid cube of side 10 m has two opposite faces painted
black, two opposite faces red and the remaining faces green.
It is then cut into 125 small cubes of 2 sides each.

funsZ'k % (ç- 8&12) % fuEufyf[kr tkudkjh dks è;kuiwoZd if<+,
vkSj bl ij vk/kfjr iz'uksa ds mÙkj nhft,A

,d Bksl ?ku ftldh izR;sd Hkqtk 10 eh- gS] dh nks foijhr lrgksa dks
dkys jax ls] nks foijhr lrgksa dks yky jax ls rFkk 'ks"k lrgksa dks gjs jax ls jax
fn;k x;k gSA blds ckn bls 2 Hkqtk okys 125 NksVs ?kuksa esa dkVk x;k gSA
8. How many cubes will have one surfaces coloured?

,sls fdrus ?ku gSa] ftudh dsoy ,d lrg jaxh gqbZ gS\
(a) 45 (b) 54

(c) 20 (d) 24

9. How many cubes will have two surfaces coloured?

,sls fdrus ?ku gSa] ftudh dsoy nks lrg jaxh gqbZ gS\
(a) 20 (b) 16

(c) 24 (d) 36

10. How many cubes are there of which three sides are
coloured?

,sls fdrus ?ku gSa] ftudh rhu lrg jaxh gqbZ gS\
(a) 0 (b) 4

(c) 8 (d) 24

11. How many cubes will have three surfaces coloured?

,sls fdrus ?ku gSa] ftudh nks ;k nks ls vf/d lrg jaxh gqbZ gS\
(a) 16 (b) 32

(c) 48 (d) 44

12. How many cubes will have none of the sides painted?
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,sls fdrus ?ku gSa] ftudh dksbZ Hkh lrg jaxh gqbZ ugha gS\
(a) 24 (b) 27

(c) 30 (d) 32

Direction (Q. 13-20) : A solid cube's two adjacent sides
are coloured with red colour and just opposite of these sides
are coloured with black colour and rest of the sides are coloured
with green colour. After that this is changed into 64 small
cubes.

Direction (Q. 13-20) : ,d Bksl ?ku dh nks vklUu Hkqtk,¡ yky jax
ls jaxh xbZ gSa vkSj bu Hkqtkvksa ds Bhd foijhr Hkqtk,¡ dkys jax ls vkSj 'ks"k
Hkqtk,¡ gjs jax ls jaxh xbZ gSaA blds ckn bls 64 NksVs ?kuksa esa cny fn;k tkrk gSA
13. How many such cubes are there of which one or two

sides are coloured but not three sides are coloured?

bl izdkj ds ,sls fdrus ?ku gSa ftuds ,d ;k nks lrg jaxs gq, gSa ijarq
rhuksa lrg jaxs gq, ugha gSa\
(a) 3 (b) 48

(c) 8 (d) 24

14. How many cubes are there of which two adjacent sides
are coloured?

fdrus ,sls ?ku gSa ftuds ijLij nks lrg jaxs gq, gSa\
(a) 24 (b) 16

(c) 2 (d) None of these

15. How many cubes are there of which no side is coloured?

,sls fdrus ?ku gSa] ftudh dksbZ Hkh lrg jaxh gqbZ ugha gS\
(a) 8 (b) 16

(c) 0 (d) 4

16. How many cubes are there of which one side is coloured
with red and just opposite side of it coloured with black.

,sls fdrus ?ku gSa ftudh ,d lrg yky jax ls jaxh gqbZ gS vkSj blds
foijhr lrg dkys jax ls jaxh gqbZ gSa\
(a) 4 (b) 6

(c) 0 (d) 2

17. How many cubes are there of which one side is coloured
with Green colour and Adjacent side with Black and
four sides are colourless?

,sls fdrus ?ku gSa ftudh ,d lrg gjs jax ls vkSj vklÂ lrg dkys jax
ls jaxh gqbZ gS vkSj ckdh pkj lrg fcuk fdlh jax ds gS\
(a) 24 (b) 28

(c) 8 (d) 16

18. How many cubes are there of which at least one side is
coloured with red colour?

,sls fdrus ?ku gSa ftudh de ls de ,d lrg yky jax ls jaxh gqbZ gS\
(a) 4 (b) 16

(c) 28 (d) 48

19. How many cubes are there of which only one side is
coloured?

,sls fdrus ?ku gSa ftudh dsoy ,d lrg jaxh gqbZ gS\
(a) 24 (b) 16

(c) 48 (d) 32

20. How many cubes are there of which three sides are
coloured?

,sls fdrus ?ku gSa ftudh rhu lrg jaxh gqbZ gS\
(a) 8 (b) 16

(c) 0 (d) 4

funsZ'k % (ç- 21&25) % fuEufyf[kr tkudkjh dks è;kuiwoZd if<+, vkSj
bl ij vk/kfjr iz'uksa ds mÙkj nhft,A

,d Bksl ?ku dh nks foijhr lrgksa dks yky jax ls] nks foijhr lrgksa dks
gjs jax ls rFkk 'ks"k lrg dks dkys jax ls jaxk x;k gSA blds ckn bls dkVdj
64 NksVs&NksVs ?kuksa esa ifjofrZr dj fn;k x;k gSA

Direction (Q. 21-25) : Study the following information

carefully and answer the questions based on it.

Two opposite faces of a solid cube are painted red, two
opposite faces green and the rest of the face black. After this

it has been cut and converted into 64 small cubes.

21. How many cubes will have one surfaces coloured?

,sls fdrus ?ku gSa] ftudh dsoy ,d lrg jaxh gqbZ gS\
(a) 8 (b) 16

(c) 20 (d) 24

22. How many cubes will have two surfaces coloured?

,sls fdrus ?ku gSa] ftudh dsoy nks lrg jaxh gqbZ gS\
(a) 20 (b) 24

(c) 32 (d) 48

23. How many cubes will have three surfaces coloured?

,sls fdrus ?ku gSa] ftudh rhu lrg jaxh gqbZ gS\
(a) 0 (b) 4

(c) 8 (d) 16

24. How many cubes will have three surfaces painted with
black, green and red ?

,sls fdrus ?ku gSa] ftudh rhu lrg dkys] gjs ,oa yky jax ls jaxh gqbZ
gS\
(a) 4 (b) 8

(c) 16 (d) 24

25. How many cubes will have none of the sides painted?

,sls fdrus ?ku gSa] ftudh dksbZ Hkh lrg jaxh gqbZ ugha gS\
(a) 8 (b) 12

(c) 16 (d) 20

26. A cube is coloured red on all of its faces. It is then cut
into 125 small cubes of equal size. Then how many
smaller cubes have three surfaces painted with red
colour?

,d ?ku ds lHkh iQyd yky jax ds gSaA fiQj bls cjkcj vkdkj ds 125
NksVs ?ku esa dkV fy;k tkrk gSA rks fiQj fdrus NksVs ?kuksa dh rhu lrgsa
yky jax ls jaxh gqbZ gSa\
(a) 4 (b) 8

(c) 12 (d) 10

27. A cube is coloured red on all of its faces. It is then cut
into 27 smaller cubes of equal size. The smaller cubes
so obtained are now separated. Then how many smaller
cube have no surface coloured?

,d ?ku ds lHkh iQyd yky jax ds gSaA fiQj bls leku vkdkj ds 27
NksVs D;wCl esa dkVk tkrk gSA bl çdkj çkIr NksVs ?ku vc vyx gks x,
gSaA rks fiQj fdrus NksVs ?kuksa dh lrg ij dksbZ jax ugha gS\
(a) 0 (b) 1

(c) 3 (d) 4

Direction (Questions 28-33):- A cube has been
painted on its surfaces in such a way that two opposite
surfaces have been painted black and white. Other two
oposite surfaces have been painted green and rosy, whose
one surface is blue and one surface is purple. It is then cut
into 216 sumaller cubes of equal size.

funsZ'k % (ç- 28&33) % ,d ?ku dks mldh lrgksa ij bl çdkj fpf=kr
fd;k x;k gS fd nks foijhr lrgksa dks dkys vkSj liQsn jax esa jaxk x;k gSA vU;
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nks foijhr lrgksa dks gjk vkSj xqykch jax fn;k x;k gS] ftldh ,d lrg uhyh
gS vkSj ,d lrg cSaxuh gSA fiQj bls leku vkdkj ds 216 NksVs ?kuksa esa dkVk
tkrk gSA
28. How many cubes will have only two surfaces painted

green and white and remaining side without colour?

fdrus ?kuksa dh dsoy nks lrgsa gjs vkSj liQsn jax ls jaxh gksaxh vkSj 'ks"k
Hkkx fcuk jax dk gksxk\
(a) 12 (b) 16

(c) 20 (d) 4

29. How many cubes will have atleast blue colour on its
surface and remaining sides without any colour?

fdrus ?kuksa dh lrg ij de ls de uhyk jax gksxk vkSj 'ks"k Hkqtk,¡ fcuk
fdlh jax ds gksaxh\
(a) 16 (b) 20

(c) 8 (d) 10

30. How many such cubes are there in which one surface is
rosy and one surface is either blue or purple and other
surface there is no colour?

,sls fdrus ?ku gSa ftudh ,d lrg xqykch gS vkSj ,d lrg ;k rks uhyh
;k cSaxuh gS vkSj nwljh lrg ij dksbZ jax ugha gS\
(a)81 (b) 12

(c) 10 (d) 25

31. How many cubes will have only two surfaces painted
with blue and black, respectively and there is no colour
of other surface?

fdrus ?kuksa dh dsoy nks lrgsa Øe'k% uhys vkSj dkys jax ls jaxh gksaxh vkSj
vU; lrgksa dk dksbZ jax ugha gksxk\
(a) 4 (b) 8

(c) 12 (d) 64

32. How many cubes will have none of the sides painted?

,sls fdrus ?ku gSa ftudh ,d lrg jaxh gqbZ gS\
(a) 16 (b) 20

(c) 64 (d) 28

33. How many cubes will have three surfaces coloured?

,sls fdrus ?ku gSa ftudh rhu lrg jaxh gqbZ gS\
(a) 8

(b) 16

(c) 32

(d) None of these

Directions (Questions 34 to 38):- A cuboid of
dimensions (5cm × 4cm × 2cm) is painted white on both the
surfaces of dismensions (5cm × 4cm) red on the surfaces
of dimension (2cm × 4cm) and black on the surfaces of
dimensions (2cm × 5cm) Now the block is divided into
various smaller cubes of side 1 cm each. The smaller cubes
so obtained are separated.

funsZ'k % (ç- 34&38) % (5 lseh × 4 lseh × 2 lseh)  ds ,d ?kukHk
dks vk;ke (5 lseh × 4 lseh) dh nksuksa lrgksa ij liQsn jax ls jaxk x;k gS]
vk;ke (2 lseh × 4 lseh) dh lrgks a ij yky jax vkSj vk;kek s a
(2 lseh × 5 lseh) dh lrgksa ij dkys jax ls jaxk x;k gSA ?kukHk dks 1 lseh
çR;sd Hkqtk okys fofHkUu NksVs ?kuksa esa foHkkftr fd;k x;k gSA bl çdkj çkIr
NksVs ?kuksa dks vyx dj fn;k tkrk gSA
34. How many total cube in the given block?

fn, x, CykWd esa dqy fdrus ?ku gSa\
(a) 30 (b) 40

(c) 45 (d) 60

35. How many cubes will have atleast red colour on its
surfaces?

fdrus ?kuksa dh lrg ij de ls de yky jax gksxk\
(a) 8 (b) 20

(c) 16 (d) 24

36. How many cubes will have none of the sides painted?

,sls fdrus ?ku gSa ftudk dksbZ Hkh fdukjk jaxk gqvk ugha gksxk\
(a) 16 (b) 8

(c) 30 (d) None of these

37. If cubes have only block as well as red colours are
removed then how many cubes will left?

;fn ?kuksa esa dsoy CykWd gS vkSj lkFk gh yky jax gVk fn, x, gSa rks
fdrus ?ku cpsaxs\
(a) 12

(b) 20

(c) 24

(d) 25

38. How many cubes will have two sides with coloured and
remaining sides without any colour?

,sls fdrus ?ku gSa ftudh nks Hkqtk,¡ jaxhu gksaxh vkSj 'ks"k Hkqtk,¡ fcuk fdlh
jax ds gksaxh\
(a) 24 (b) 16

(c) 28 (d) 20

Answer-Key

1. (c) 2. (b) 3. (a) 4. (d) 5. (a) 6. (c) 7. (a) 8. (b) 9. (d) 10. (c)

11. (d) 12. (b) 13. (b) 14. (a) 15. (a) 16. (c) 17. (c) 18. (c) 19. (a) 20. (a)

21. (d) 22. (b) 23. (c) 24. (b) 25. (a) 26. (b) 27. (a) 28. (d) 29. (a) 30. (a)

31. (a) 32. (c) 33. (a) 34. (b) 35. (c) 36. (d) 37. (a) 38. (d)
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1. (c) Total no. of corner cube

corner cube dh dqy la[;k = 8

So, cubes with paint on 3 sides = 8

blfy,] rhu lrg jaxhu ?kuksa dh la[;k
2. (b) Total no. of middle cube (only three side painted)

eè; ?kuksa dh dqy la[;k (dsoy rhu lrg jaxhu)
= 12(n – 2) = 12 (5 – 2) = 12 × 3 = 36

Total no. of corner cube (only three side painted) = 8

'kh"kZ ?kuksa dh dqy la[;k (dsoy rhu lrg jaxhu) = 8

Total no. of middle cube + Total no. of corner cube

eè; ?kuksa dh dqy la[;k + 'kh"kZ ?kuksa dh dqy la[;k
= 36 + 8 = 44

3. (a) Total no. of centre cube = 6 (n – 2)2

dsUnzh; ?kuksa dh dqy la[;k
= 6 (7 – 2)2 = 6 (5)2 = 6 × 125  = 150

4. (d) Total no. of centre cube

dsUnzh; ?kuksa dh dqy la[;k = 6 (n – 2)2

= 6 (6 – 2)2  = 6 (4)2 = 6 × 16 = 96

5. (a) According to the question, the cube has to be colored
in such a way that the colors of the adjacent sides
are not the same. If the opposite faces are painted
with different colours, the colors of the adjacent sides

will not be the same. So we will need three colours.

ç'ukuqlkj] ?ku dks bl izdkj ls jaxuk gs fd lkFk yxus okyh vFkkZr~
fudVorhZ Hkqtkvksa dk jax ,d tSlk u gksA foijhr iQydksa dks
vyx&vyx jax ls jaxus ij lkFk yxus okyh Hkqtkvksa dks jax ,d
tSlk ugha gksxkA vr% gesa rhu jaxksa dh vko';drk gksxhA

6. (c) ATQ, Every colour painted to two surface

ç'ukuqlkj] izR;sd jax 2 lrgksa ij iz;qDr gqvk gSA
 Total no. of cube has one side painted to any one

cloour is / fdlh ,d jax dh ,d lrg jaxhu ?kuksa dh la[;k
= (n – 2)2 × 2

   [Here/ ;gk¡] n = 3 64 = 3 4 4 4 4   ]

= (4 – 2)2 × 2 = (2)2 × 2 = 4 × 2 = 8

7. (a) fcuk jaxs iQydksa okys ?kuksa dh la[;k
= (n – 2)3 = (4 – 2)3 = (2)3 = 8

8. (b) ATQ/ ç'ukuqlkj
Only one surface painted cube = No. of central cube

dsoy ,d lrg jaxs ?kuksa dh la[;k = dsUnzh; ?kuksa dh la[;k
= 6(n – 2)2 = 6(5 – 2)2 = 6 × 32 = 6 × 9 = 54 ?ku

9. (d) ATQ/ç'ukuqlkj]
Only two surface painted cube = No. of middle cube

dsoy nks lrg jaxs ?kuksa dh l a[;k = eè; ?kuksa dh la[;k
= 12(5 – 2) = 12 × 3 = 36 ?ku

10. (c) ATQ/ç'ukuqlkj]
Only three surface painted cube = No. of corner cube

rhu lrg jaxs ?kuksa dh la[;k = 'kh"kZ ?kuksa dh la[;k = 8 ?ku
11. (d) ATQ, two or more than two surface painted cube =

two surface painted cube + three surface painted

cube

ç'ukuqlkj] nks ;k nks ls vf/d lrg jaxs gq, ?kuksa dh la[;k
= nks lrg jaxs ?kuksa dh la[;k + rhu lrg jaxs ?kuksa dh la[;k
= 36 + 8 = 44 ?ku

12. (b) ATQ, no. of cube with no surface painted

ç'ukuqlkj] dksbZ Hkh lrg u jaxs ?kuksa dh la[;k
= Inner central surface cube / vUr% dsUnzh; ?kuksa dh la[;k
= (n – 2)3 = (5 – 2)3 = (3)3 = 27

13. (b) 1 surface coloured cubes + 2 surface coloured cubes

1 lrg jaxhu ?ku + 2 lrg jaxhu ?ku
= 6(n – 2)2 + 12(n – 2) = 6(4 – 2)2 + 12(4 – 2)

= 6 × 4 + 12 × 2 = 24 + 24 = 48

14. (a) Two adjacent sides coloured cubes

nks lrg jaxhu vklÂ ?kuksa dh la[;k
= 12(n – 2) = 12(4 – 2) = 12 × 2 = 24

15. (a) No side coloured cubes / jaxghu lrg okys ?kuksa dh la[;k
= (n – 2)3 = (4 – 2)3 = (2)3 = 8

16. (c) There are no such types of cubes.

bl izdkj ds dksbZ ?ku ugha gksrsA
17. (c) Only two sides coloured cubes (green and black)

dsoy nks lrg jaxhu ?kuksa dh la[;k (gjk vkSj dkyk)
= 4(n – 2) = 4(4 – 2) = 4 × 2 = 8

18.(c) Only 1 surcace clolured cubes (red) / dsoy ,d lrg
jaxhu ?ku (yky) = 2(n – 2)2

         = 2(4 – 2)2 = 2 × 4 = 8

Only 2 surface coloured cubes which have atleast

one red surface / dsoy nks lrg jaxhu ?kuksa dh la[;k ftuds
de ls de ,d lrg yky gks
= 7(n – 2) = 7(4 – 2) = 7 × 2 = 14

(There are only 7 edges with red coloured / dsoy 7
fdukjs yky jax ds gSa)
Only 3 surface coloured cubes which have atleast

one red surface / dsoy rhu lrg jaxhu ?kuksa dh la[;k ftuds
de ls de ,d lrg yky jax dh gS = 6

Total = 8 + 14 + 6 = 28

19.(a) Only one side coloured cubes / dsoy ,d lrg jaxhu ?kuksa
dh la[;k = 6(n – 2)2  = 6(4 – 2)2 = 6 × 4 = 24

20.(a) Three sides coloured cubes / rhu ?kuksa = 8

21. (d) ATQ, / ç'ukuqlkj]
only one surface paintec cube = Number of central

cube

dsoy ,d lrg jaxs ?kuksa dh la[;k = dsUnzh; ?kuksa dh la[;k
= 6 (n – 2)2 = 6(4 – 2)2

=  6(2)2 = 6 × 4 = 24 ?ku
22. (b) ATQ, / ç'ukuqlkj]

Only two surface painted cube = no. of middle cube

dsoy nks lrg jaxs ?kuksa dh la[;k = eè; ?kuksa dh la[;k
= 12(n – 2) = 12 (4 – 2) = 12 × 2 = 24 ?ku

23. (c) ATQ, / ç'ukuqlkj]
no. of three surface painted cube = no. of corner

cube = 8

Answer With Explanation
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rhu lrg jaxs ?kuksa dh la[;k = 'kh"kZ ?kuksa dh la[;k = 8 ?ku
24. (b) ATQ, / ç'ukuqlkj]

Required no. of cube/ vHkh"V ?kuksa dh la[;k = No. of

corner cube / 'kh"kZ ?kuksa dh la[;k = 8 ?ku
25. (a) ATQ, / ç'ukuqlkj]

No. of cube with no surface painted = No. of inner

central cube

dksbZ Hkh lrg u jaxs ?kuksa dh la[;k = vUr% dsUnzh; ?kuksa dh la[;k
= (n – 2)3 = (4 – 2)3  = (2)3 = 8 ?ku

26. (b) We know that number of smaller cubes with three
surfaces painted is always 8.

ge tkurs gSa fd] rhu lrg jaxhu NksVs ?kuksa dh la[;k ges'kk 8 gksrh gSA
27. (a) Number of smaller cubes with two surfaces painted

nks lrg jaxhu NksVs ?kuksa dh dqy la[;k
= 12(n – 2)

Here / ;gk¡] n = 3 216  = 6

So, required no. / blfy, vHkh"V la[;k
= 12 (6 – 2) = 12 × 4 = 48

28. (d) Only 4 cubes will have two surfaces painted green
and white and  remaining side without colour.

dsoy 4 ?ku nks lrg gjs vkSj lisQn jax ls jaxs gksaxs ckdh lrg fcuk
jax ds gksaxsA

29. (a) Clearly 16 cubes will have at least blue colour on
its surface any remaining sides without colour.

Li"V :i ls 16 ?kuksa dh lrg ij de ls de uhyk jax gksxk] 'ks"k
lHkh Hkqtk,¡ fcuk jax ds gksaxhA

30. (a) Clearly 8 cubes there whose one surface is rosy
and one surface is either blue or purple.

Li"V :i ls 8 ?ku gSa ftudh ,d lrg xqykch gS vkSj ,d lrg ;k
rks uhyh ;k cSaxuh gSaA

31. (a) Clearly only 4 cubes are there.

Li"V :i ls 8 ?ku gSaA
32. (c) Number of smaller subes with no surface painted

jaxghu lrg okys NksVs ?kuksa dh la[;k =  (n–2)3

Here / ;gk¡]  n = 3 216  =  6

Required no / vHkh"V la[;k =  (6–2)3 = (4)3 = 64

33. (a) rhu lrg jaxhu ?kuksa dh la[;k ges'kk 8 gksrh gSA
34. (b) Total cube in the given block / fn;s x;s CykWd esa ?kuksa

dh dqy la[;k = 5 × 4 × 2 = 40

35. (c) Clearly, there are 16 cubes atleast red colour on
its surface.

Li"V :i ls de&ls&de 16 ?ku ,sls gSa ftudh lrg yky jax ds gSaA
36. (d) None / dksbZ ugha
37. (a) Remaining no. of cuebes are

vHkh"V ?kuksa dh dqy la[;k = 12.

38. (d) Only 20 cubes have two sides with coloured and
remaining side without any colour.

dsoy 20 ?kuksa dh nks Hkqtk,¡ jaxhu gSa vkSj 'ks"k Hkqtk fcuk fdlh jax
ds gSaA


